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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘U’ can
be represented by 20, 97, etc., and ‘O’ can be represented by 44, 67, etc.
Similarly, you have to identify the set for the word “STAR”.

Ud g dhad Uh WEAT-HHE §RT GRfam ¥, star 76 Aweur & 4
et & e ¥ fa@edt # Ru wv gEm-aep 3ERT & o gt
gRT gRiw arw §, Shar R Ru arw ) smegt & 1 ey & Fawer 3R
ufth 1 TEar 0 @ 4 § IR WyENH 5 T 91 39 NYP F TP ;@R
@ Ugdl suh ofs AR A A ToEH T gRT i ST @l b
3EIR0T & fAw ‘Ut 20, 97, TG ERT AT ST TehAT ¥ AU ‘O’ A 44,
67, 31fg RT GRfFr ST wdhar ¥ W e @ ud gA A Ru g
“STAR” & fou TaE a ugaEar ¥

Matrix-I Matrix-ll
3rgg- gl
0[{1[2[3]4 5|6|7|8]9
O[Y[C|U|[G]| I S5|P|K|[D[F|R
1|K|[I|[H|Q|E 6 |GIW|O|H|V
2|U|E|[Y[B|A EITTSIYT3S
3|F|H|P]|L|N 8(H|F|[I]|]L|R
4/A|IR[M|T|O 9(D|S|U[N|A

Options:
1) 76, 43, 40, 41

2) 14, 69, 01, 85
3)79,75,99, 10

4) 76, 40, 59, 41
Correct Answer: 76, 43, 40, 41
Candidate Answer: 76, 43, 40, 41

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3 At F ¥ 3@ I HgA F AT
o & oy apla BT &
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ptions:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

Pl W 3AT HFA UH HFd & UldFT H QU
GRE) 1

5
7

(o' .
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Correct Answer:

A\

Candidate Answer:

A

QID : 206 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg o YT F AB T WX IW@T AT, ar & wE
TaX HGEaAr A ¥ did @ Fgpa U Jea Hr
T ufafas gefr?

JV|A

A~ B
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Options:
1)

N
1%

3)

\4

4)

WAIV

Correct Answer:

WAIV

Candidate Answer:

Y

QID: 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & un apfadl A @ 3gER Fee @
Az Ve JUT Wreld & g I FT IR 3eA
s fere am?
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Options:
1)

0000
0000

2)

0000
0000

3)

4)

o

(e]e)

o]
OO

Correct Answer:

000
(e] o]

(o] o]
00O

Candidate Answer:

000

000
000

o

QID : 208 - What will come in place of question mark (?) in the given equation?

21?23?3211 =32
few T wefienzor 7 vy g (?) & wiH W @ e

2123?32?11 =32
Options:

1) +,—-and +

+, — Ul +

2) x, +and +

X, = dYl +

3)+, xand -

+, X dYr—

4) +, —and x

+, = dYUl x

Correct Answer: x, + and +
X, + a4l +

Candidate Answer: x, + and +
x, = dYl +

QID:209-1f6+3—-2=4and7 + 2— 6 = 21, then
3+2-4=2?

6 +3-2=4TU7+2-6=217),a
3+2-4=7?

Options:

1)6

2) 12

3)18

4) 24

Correct Answer: 6
Candidate Answer: 6
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Troupe

2. Torpedo
3. Tungsten
4. Tremble
5. Torrential

fafafed Weal 31 AEHI H 3 aTdl HH & IR g |
1. Troupe

2. Torpedo

3. Tungsten

4. Tremble
5. Torrential

Options:
1) 52413

2) 25413
3) 25431

4) 52431

Correct Answer: 25413

Candidate Answer: 25413

QID : 211 - In the following question, select the missing number from the given series.
31, 34,38,41,45,?

fafoRad oy & iU U fawedl § 9 g 8i% 1d Sifor|

31, 34,38,41,45,?

Options:
1) 44

2) 46

3)39

4) 48

Correct Answer: 48

Candidate Answer: 48

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AY, BX, CW, ?

TP 3HH fear T ], o 9 uw ue g B 1 AT fawedt #f @ a7 It fawew g, S s H & I

AY, BX, CW, ?
Options:
1) EV

2) FU
3) DV

4) DU
Correct Answer: DV
Candidate Answer: DV

QID : 213 - In the following question, select the odd word from the given alternatives.

fafefad oy & fou e fawed & 9 faww wrsg &t gful
Options:

1) Keyboard

CACIFS

2) Mouse
3y
3) Monitor

4) Cat
foeett

Correct Answer: Cat

Candidate Answer: Cat

QID : 214 - In the following question, select the odd number from the given alternatives.
frafafed uy & faw U fawedt & 9§ favm e &1 gy
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Dz
2) 432
3) 234
4) 542
Correct Answer: 542
Candidate Answer: 542

QID : 215 - In the following question, select the odd letters from the given alternatives.

Frofoiaa ny & faw e fowedt & @ fawy eiert 1 gful
Options:

1) OMK

2) TRP

3) FCA

4) DBz

Correct Answer: FCA

Candidate Answer: FCA

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Judge, Criminal, Thief

I8 3 9T S i 3w U ovif & e & Tde b1 TE) U0 e B

grardier, eI, IR
Options:
1)

2)

©)o
©
QD

Correct Answer:

©)o

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Dumb : Speech : : Deaf : ?
frufated vy & fow U fawedt & ¥ Tefid wsg &Y 9wl
W:HTUﬁ::'@IﬁF\’:?
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Options:
1) Sight
B

2) Hearing

AT
3) Ear

Cagl
4) Eyes
3irg

Correct Answer: Hearing

g

Candidate Answer: Hearing

AT

QID : 218 - In the following question, select the related number from the given alternatives.
653:875::462:7?

frafafed uy & few e fawed! & ¥ defa I &1 gl

653:875::462:7?

Options:

1) 682

2) 484

3) 684

4) 664
Correct Answer: 684
Candidate Answer: 684

QID : 219 - In the following question, select the related letters from the given alternatives.
PM:TQ::XU:?

frafafed uy o fau Tu fawedl # 9 e sieri o gHu

PM:TQ::XU:?

Options:

1) zy

2) AY

3) BY

4) ZX
Correct Answer: BY
Candidate Answer: BY

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
EXHAUSTIVE

frafafed fawedl & ¥ a8 sg gAY S 3T T Meg & 1&RT BT TN I g1 a1 off Havdll|

EXHAUSTIVE

Options:

1) HATE

2) HIVE

3) VITAL

4) EXHAUST
Correct Answer: VITAL
Candidate Answer: VITAL

QID: 221 - P is 9 years older than Q. Q is 3 years younger than R. R is 2 years older than S. S is 6 years younger than T. Who is the eldest?

P,QY9aY§ST8IQ RIZTABICTRIR ST 28 TSI S, TH 6 aY BleT ¢ Ja& §81 DI 87
Options:
1)R

2)T
3)P

4)S
Correct Answer: P
Candidate Answer: P
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QID: 222 -, M, N, O and P are sitting in a line facing west. L and M are sitting together. N is sitting at south end and O is sitting at north end. P is neighbour of M
and O. Who is second from south end?

%M Nﬁo;gpwu%ﬁu@nﬁ@?g@m%%La?ﬂMwmué%*%Nﬁ&vﬁwwéa%amoaﬂﬁ@ﬁwﬁa%w M T O &1 TSIt 31 &faoft &R
T

Options:

1N

2)L
3)M

4)P
Correct Answer: P
Candidate Answer: L

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All C are D.
IL. All A are D.

Conclusions:
I. Some D are C.
II. NoAis C.

:ﬁ%ﬁquﬁwﬁmﬁimmmmﬁmaﬂm%’fﬁwﬁmw% BTaifes I8 =T 1 et ¥ Az 8 Yondt g1 T freeef ug SR f Fuffa
P 5 ou U o | s, 3y MU Byt & SR W gfaad g

DY
L3 c DRI
IL. gt A, D B

g
C
iI%DA c=1ls°r%|

Options:
1) Only conclusion (I) follows.
et (1) W& R
2) Only conclusion (II) follows.
Pae Fepy (1) TE B
3) Both conclusion follow.
T & ey W 8
4) Neither conclusion (I) nor conclusion (II) follows.
T P (1) 7 € frseef (1) I R
Correct Answer: Only conclusion (I) follows.
FHaa fsed (1) T 21
Candidate Answer: Only conclusion (I) follows.

Faa fred (1) T B

QID : 224 - In a certain code language, "BOTTLE" is written as "ERWWOH". How is "TRAIL" written in that code language?

T fafiy ®is U §, "BOTTLE" %1 "ERWWOH" f3RaT ST 81 39 is {1 # "TRAIL" &1 5y YR e saem?
Options:

1) MNLDO

2) WUDLO

3) VXLND

4) DNLWX

Correct Answer: WUDLO
Candidate Answer: WUDLO

QID : 225 - In a certain code language, "TUK" is written as "54" and "FORK" is written as "52". How is "TEAR" written in that code language?

T fAfIy S U &, "TUK" BT "54" YT "FORK" &1 "52" foRaT SITdl 81 39 IS HIW & "TEAR" &1 b9 YR forar simaeme
Options:

1) 49

2)52

3)46

4) 44

Correct Answer: 46

Candidate Answer: 46

QID : 226 - What least number must be added to 1056, so that the sum is completely divisible by 23 ?

1056 T &0 I HH =t Team St ot =gy, anfds dmea 23 § yufa: favyrsa gt wime?
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(:)p;mns.
2)3
3) 18
4) 21
Correct Answer: 2
Candidate Answer: 2

QID : 227 - A divisor is 25 times the quotient and 5 times the remainder. If the quotient is 16, what is the dividend?

T U, HATHE &1 25 T[T 3R AY &1 5 TA1 g | afe UITHS 16 8, oY YT o1 §2
Options:

1) 400

2) 480

3) 6400

4) 6480

Correct Answer: 6480
Candidate Answer: 6480

QID : 228 - On dividing a given number by 899, we get 63 as remainder. If the same number is divided by 29, what will be the remainder?

fareht <t 1< TRe #1899 | YN 3 W §H 63 N U gl 71 Afe I G &1 29 F um fern S 7, @ Ay /1 gewe
Options:
1)3

2)1
3)5

40
Correct Answer: 5
Candidate Answer: 5

QID : 229 - How many 3-digit numbers are exactly divisible by 6?
3 3ih! ! fohat Ty 6 | gufa: faursa €2

Options:

1) 140

2) 150

3) 160

4) 170
Correct Answer: 150
Candidate Answer: 150

QID : 230 - The product of two positive numbers is 2500. If one number is four times the other, then what will be the sum of the two numbers?
& YATHS GRS BT UFT 2500 81 Afe T WReAT gE U IR AT ], @ Gl TeArstt &1 A fasn ghme

Options:

1) 25

2) 125

3) 225

4) 250
Correct Answer: 125
Candidate Answer: 125

QID : 231 - The sum of the square of 3 consecutive positive numbers is 365, then what will be the sum of the numbers?

3 TR 4TS STt 3 a1 I 365 B, al S ARensif 1 AT fa g
Options:
1) 30

2)33
3) 36

4) 45
Correct Answer: 33
Candidate Answer: 33

QID : 232 - A works twice as fast as B. If both of them can together finish a piece of work in 12 days, so in how many days B alone will do it?

B 1 e, A SR Isit | BT H3d1 1 TS 3T e fbelt o @l 12 3 o 1 bvd €, Y B bt I fopant fof & 1 % e
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Options:
1) 24 days
2417
2) 27 days
27 A
3) 36 days
36 faA
4) 48 days
48 fad
Correct Answer: 36 days
36 faA

Candidate Answer: 24 days

24

QID : 233 - If 10 men can do a piece of work in 12 days, then what will be the time taken by 12 men to do the same piece of work?

e 10 seHh freht w1 Y 12 o & g1 R T §, A 12 et I HE B g1 HA A e wHg A
Options:

1) 12 days

12 fad

2) 10 days

10 fa=

3) 9 days

9faa

4) 8 days

8 faa

Correct Answer: 10 days

10 fa=

Candidate Answer: 10 days
10 fa=

QID : 234 - What will be the ratio of the surface area of a sphere and the curved surface area of the cylinder circumscribing the sphere?

fordt et Y gt et Sk RAfUSR & aehysTa A=tha o1 S(UTd & §ITT?
Options:

1)1:2

2)1:1

3)2:1

4)2:3

Correct Answer: 1: 1

Candidate Answer: 2 : 3

QID : 235 - A dealer marks his goods at 40% above the cost price and allows a discount of 20% on the marked price. What percentage of profit or loss will the
dealer have?

TS fadhdT 307 WM W I, 59 Ged ¥ 40% 1% 3ifdhd a1 § 3R siftrd Ted W 20% &1 e a1 31 fagsar &1 fram ufawra &) @y a1 g1 gife
Options:

1) loss of 20 %

20% 1 g1

2) gain of 25 %

25% DT dTYH

3) loss of 12 %

12% 1 g1

4) gain of 12 %

12% T a1H

Correct Answer: gain of 12 %
12% 1 IH

Candidate Answer: gain of 12 %
12% T 1Y

QID : 236 - Rahim bought a T.V. with 20% discount on marked price. If he had bought it with 25% discount he would have saved Rs 500. At what price did he buy
the T.V.?

T 7 3ifhd HeT W 20% Fe & 1Y Th At WST| R IT T8 25% Fe b 1Y TIeT 8ial o S8 500 T F91E B | 39 It fhd g R @dian
Options:

1) Rs. 16000

16000 ¥

2) Rs. 12000

12000 ¥

3) Rs. 10000

10000 ¥

4) Rs. 8000

8000 %

Correct Answer: Rs. 8000
8000 %

Candidate Answer: Rs. 10000
10000 ®
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QID : 237 - The monthly salaries of A, B and C are in the ratio 1 : 2 : 3. If C's monthly salary is Rs 1200 more than that of A, then what is B's annual salary?
A, B 3R C 31 AT A=l BT SUTd 1 : 2 : 3 71 TG C T AP a1 A ¥ 1200 ¥ 31 8, Y B FT Alfar Ja- o1 32

Options:

1) Rs 12000

12000 ¥

2) Rs. 14400

14400 ¥

3) Rs. 15000

15000 ¥

4) No option is correct.

B e TE T B
Correct Answer: Rs. 14400
14400 ¥

Candidate Answer: Rs. 14400
14400 ¥

QID : 238 - Monthly income of A and B are in the ratio of 4 : 3 and their expenses bear the ratio 3 : 2. Each of them saves Rs 6000 at the end of the month, then
what is the monthly income of A?

A 3R B &1 ARG 31T 4: 3 % 30T B § 3R 7% T | 3 : 2 T 3FUM 81 I7H I TS HeH & 3fd H 6000 T F9d FXaT €, A A BT ARG 31 fobeit 82
Options:

1) Rs. 12000

12000 ¥

2) Rs. 24000

24000 %

3) Rs. 30000

30000 %

4) Rs. 60000

60000 ¥

Correct Answer: Rs. 24000
24000 %

Candidate Answer: Rs. 24000
24000 %

QID : 239 - What is the average of first 8 multiples of 5?

5% TYH 8 7! T NG fbeT gm?
Options:

1) 22.5

2)21.8

3)20

4)24

Correct Answer: 22.5

Candidate Answer: 22.5

QID : 240 - The marked price of a table is Rs 4800. The shopkeeper allows a discount of 10% and gains 8 %. If no discount is allowed then what would be his gain
per cent?

TH 9T BT 3ifhd Tel 4800 T 71 THMER 10% BT Fe T 8 3R 8% TIH UIAT 81 A IS ge e < St 7, a ITbT Ty Ui . g
Options:

1) 18%

2) 18.5%

3) 20%

4) 20.5%

Correct Answer: 20%

Candidate Answer: 18.5%

QID : 241 - A watch was sold for Rs 144. If the gain percent and cost price are numerically equal, then what is the cost price of the watch?

TH TS 144 T H <t 15| IS A1 vl oiR U e SeTeTd U ¥ GAM €, O gSt Bl B Yo 1 82
Options:

1) Rs. 72

2%

2) Rs. 80

80 %

3) Rs. 90

90%

4)Rs. 100

1003

Correct Answer: Rs. 80
80%

Candidate Answer: Rs. 80
80%

QID : 242 - A person gave 20% of his income to his elder son, 30% of the remaining to the younger son and 10% of the balance, he donated to a trust. He is left
with Rs 10080. What was his income?

TP T ST 3T BT 20% 3T IS T B, [ FT 30% BIE T B 3R AT AT BT 10% Th < B1 o AT 8| ISP U1 10080 T 521 § | ITD! 317 et &

Download More PaperéFrom GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:

1) Rs 50000

50000 ®

2) Rs 40000

40000 ¥

3) Rs 30000

30000 ®

4) Rs 20000

20000 ®

Correct Answer: Rs 20000
20000 ®

Candidate Answer: Rs 20000
20000 ®

QID : 243 - If X earns 25% less than Y, what percent more does Y earns than X?

X, Y ¥ 25% HH HAM ©, A1 Y, X ¥ [ ufawra 2ifiie wamar 82
Options:

1) 25%

2) 20%

3) 16.66%

4)33.33%

Correct Answer: 33.33%

Candidate Answer: 33.33%

QID : 244 - A train covers a distance from station A to station B at a uniform speed of 60 km/hr and returns to station A at a uniform slower speed. If the average
speed for the whole trip be 48 km/hr, what is the return speed of the train?

TP T R A 3R RIH B F g Bt g1 60 Tl ot toaa 71fd | 79 o=l & 3R thaaH i i 3 Rwe A die ot 81 3fe ot amn & forg shad T1fa 48
fopeit/eiet g1, < A= & < &1 I T 6
Options:

1) 46.8 km/hr

46.8 fopeii/eier

2) 40 km/hr

40 fopei/ger

3) 54 km/hr

54 i eer

4) 52 km/hr

52 feiiyeer

Correct Answer: 40 km/hr

40 fpefi/der

Candidate Answer: 40 km/hr

40 foreiyeer

QID : 245 - A man travelled a certain distance by train at the rate of 25 km/h and walked back at the rate of 4 km/h. If the whole journey took 5 hours 48 minutes,
then what was the distance travelled?

T et 3 U AT g 37 9 25 el ) R A 79 Bt ok 4 farl/ae B @R @ gawR arow o afe gt ann & 5 Her 48 fiFe @, @ g g8 g v e
Options:
1) 25 km
25 fopeit
2) 30 km
30 et
3) 20 km
20 fartft
4) 15 km
15 forft

Correct Answer: 20 km
20 fordlt

Candidate Answer: 20 km

20 foeht

QID : 246 - A certain sum of money becomes three times of itself in 20 years at simple interest. In how many years does it become double of itself at the same rate
of simple interest?

YR ST WR T M 4=RIRT 20 I6T & gg $ i 1 81 SIelt 81 RO 7 B 9HH & § I e Trelt § g7 81 <t 82
Options:

1) 8 years

g af

2) 10 years

109y

3) 12 years

1299

4) 14 years

1499

Correct Answer: 10 years
10 a9

Candidate Answer: 10 years
10 af
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The pie-chart given below represents the details of the
Deployment of 600 security personnel at 5 check posts
during a festival. Based on the data given in the pie-chart
answer the following question.

d fGu av 918 9 A 600 FETHEAAT F 5 b Ge W

AT 7 gertar 4T 81 Feafafad wra #7139 9 9 7
galfiT 1T 37hsl & YR W &)

B Check Post A/de GIEC A
® Check Post B/dd dIFC B
¥ Check Post C/d% 9T C
® Check Post D/ 9T D
¥ Check Post E/de GIFC E

How many total security personnel are deployed at Check Post A and E together?

IHURE A TUT E B! FAeTTens et feban GR&MeBH! o 82
Options:

1) 210

2) 216

3) 204

4) 140

Correct Answer: 210

Candidate Answer: 210
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The pie-chart given below represents the details of the
Deployment of 600 security personnel at 5 check posts

during a festival. Based on the data given in the pie-chart
answer the following question.

A fGu av 918 9 A 600 FETHEAAT F 5 b GC W

AT 7 gertar @ 81 Feafafad wra 139 9 9 7
gafiT 1T 3hsl & YR W &)

B Check Post A/de 9IEC A
® Check Post B/dd dIFC B
¥ Check Post C/d% 9T C
® Check Post D/d@& 9T D
¥ Check Post E/de G9IFC E

What is the ratio of security personnel deployed at Check post B to that of Check Post C?

IHURE B TUT IHURE C TR I JRATHIHT BT UTd T 82
Options:

1)4:3

2)3:4

3)7:4

4)7:3

Correct Answer: 4 : 3

Candidate Answer: 4 : 3
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The pie-chart given below represents the details of the
Deployment of 600 security personnel at 5 check posts
during a festival. Based on the data given in the pie-chart
answer the following question.

A fGu av 918 9 A 600 FETHEAAT F 5 b GC W

AT 7 gertar @ 81 Feafafad wra 139 9 9 7
gafiT 1T 3hsl & YR W &)

B Check Post A/de 9IEC A
® Check Post B/dd dIFC B
¥ Check Post C/d% 9T C
® Check Post D/d@& 9T D
¥ Check Post E/de G9IFC E

How many more security personnel are deployed at check post B as compared to Check Post D

I UIRe D P goT H 9 URe B W a1 Qrensfiar & aard febar Srar 82
Options:

1) 126

2) 132

3) 138

4) 144

Correct Answer: 138

Candidate Answer: 138
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The pie-chart given below represents the details of the
Deployment of 600 security personnel at 5 check posts
during a festival. Based on the data given in the pie-chart
answer the following question.

A feU 1w g wié A 600 FLETHEAAT & 5 U GFe W

AT 7 gertar @ 81 Feafafad wra 139 9 9 7
g2t 1T 37l & YR W &

B Check Post A/da 9IEC A
® Check Post B/dd dIFC B
¥ Check Post C/d% 9T C
® Check Post D/d@& 9T D
¥ Check Post E/de G9IFC E

How many more security personnel are deployed at check post A as compared to Check Post having least number of security personnel?

DA Y DA GRAHIT! B TS a1 I URe B gl § 9o URE A TR b 31fies QR aard fby 7y 82
Options:
1) 45

2) 42
3) 48

4) 54
Correct Answer: 42
Candidate Answer: 42

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The driver of the huge truck pulled the (1)/ emergency brakes to avoid hitting the auto (2)/ rickshaw which suddenly come in front of the truck. (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4
Correct Answer: 3
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He wanted to fix the system so that more U.S. aid (1)/ could be justified. But (2)/ he was wrong to believe that vast flows of aid to Africa has been squandered.
(3)/ No error (4)

Options:
1)1
2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3
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QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The play affects the reader well when it is
Options:
1) roiled

2) read
3) trued

4) lurked
Correct Answer: read
Candidate Answer: roiled

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

A ruthless serial killer still in the woods.
Options:
1) dance

2) lurked
3) lurk

4) smile
Correct Answer: lurked
Candidate Answer: dance

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Spunky
Options:
1) Enthusiastic

2) Meek
3) Timid

4) Sky
Correct Answer: Enthusiastic
Candidate Answer: Enthusiastic

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Despair
Options:
1) Sad
2) Joy

3) Trust

4) Faith
Correct Answer: Sad
Candidate Answer: Faith

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Repelled
Options:
1) Attract
2) Surplus
3) Drive away
4) Pleased

Correct Answer: Drive away
Candidate Answer: Drive away

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Bossy
Options:
1) Dictatorial

2) Commanding
3) Polite

4) Strict
Correct Answer: Polite
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Candidate Answer: Polite

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Passive

Options:

1) Asleep

2) Agitated

3) Compliant

4) Lifeless

Correct Answer: Agitated

Candidate Answer: Agitated

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Inept
Options:
1) Artless
2) Awkward
3) Talented
4) Loser

Correct Answer: Talented
Candidate Answer: Talented

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Deep pockets
Options:

1) A lot of money

2) Spending lavishly
3) Spending diligently
4) Spending follishly

Correct Answer: A lot of money
Candidate Answer: Spending lavishly

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Wet blanket

Options:

1) Someone who prevents other people from having fun
2) Someone who gives advice based on experience

3) Someone who never gives advice

4) Some who gives advice based on practice not theory

Correct Answer: Someone who prevents other people from having fun
Candidate Answer: Someone who gives advice based on experience

QID : 263 - Improve the bracketed part of the sentence.

A major river in the city was reduced to a polluted and dirty canal after tonnes of sewage (make) way into it over the years.
Options:

1) makes

2) made

3) making

4) No improvement
Correct Answer: made
Candidate Answer: made

QID : 264 - Improve the bracketed part of the sentence.

The rise in the number of part-time teachers and the freeze on new full-time appointments in (much) places have affected morale in the academic profession.
Options:

1) mostly

2) lesser

3) many

4) No improvement
Correct Answer: many
Candidate Answer: many

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Identification with another person’s feelings.
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) Empathy
2) Tyranny
3) Disharmony

4) Physicality
Correct Answer: Empathy
Candidate Answer: Empathy

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A person having same name as another.
Options:
1) Keepsake

2) Forsake
3) Sake

4) Namesake
Correct Answer: Namesake
Candidate Answer: Namesake

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Simpathy

2) Sympathy
3) Simpathee

4) Sympathee
Correct Answer: Sympathy
Candidate Answer: Sympathy

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Advericiement

2) Advertisement
3) Advertesiment

4) Advertisemant
Correct Answer: Advertisement
Candidate Answer: Advertisement

QID : 269 - Rearrange the parts of the sentence in correct order.

Manifestation of racism

P: aggressive behavior towards
Q: the object of prejudice

R: is commonly violent and

Options:
1) PQR

2) RPQ
3) QRP

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in correct order.

Children’s response

P: reaction to danger and trauma
Q: through the prism of their

R: to war can be seen

Options:
1) PQR
2) RQP
3) QRP
4) PRQ
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Correct Answer: RQP
Candidate Answer: RQP

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Introduction of scientific researches, ideas and techniques to the field of education has brought a level of positive change in the new generation and
provided them variety of new and innovative opportunities to work in the field of own interest. Modern science in India has been awakened by the
continuous and efforts of the outstanding scientists. Scientists in India are who have made possible the scientific advances of highest international
a level of positive change

Options:

1) huge

2) numerous
3) small

4) little
Correct Answer: huge
Candidate Answer: huge

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Introduction of scientific researches, ideas and techniques to the field of education has brought a level of positive change in the new generation and
provided them variety of new and innovative opportunities to work in the field of own interest. Modern science in India has been awakened by the
continuous and efforts of the outstanding scientists. Scientists in India are who have made possible the scientific advances of highest international

work in the field of own interest.
Options:
1) one’s

2) their
3) his

4) my
Correct Answer: their
Candidate Answer: their

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Introduction of scientific researches, ideas and techniques to the field of education has brought a level of positive change in the new generation and
provided them variety of new and innovative opportunities to work in the field of own interest. Modern science in India has been awakened by the
continuous and efforts of the outstanding scientists. Scientists in India are who have made possible the scientific advances of highest international

by the continuous and efforts
Options:
1) soft

2) useless
3) hard

4) small
Correct Answer: hard
Candidate Answer: hard

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Introduction of scientific researches, ideas and techniques to the field of education has brought a level of positive change in the new generation and

provided them variety of new and innovative opportunities to work in the field of own interest. Modern science in India has been awakened by the
continuous and efforts of the outstanding scientists. Scientists in India are who have made possible the scientific advances of highest international
India are
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Options:
1) larger

2) miser
3) great

4) greedy
Correct Answer: great
Candidate Answer: great

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Introduction of scientific researches, ideas and techniques to the field of education has brought a level of positive change in the new generation and
provided them variety of new and innovative opportunities to work in the field of own interest. Modern science in India has been awakened by the
continuous and efforts of the outstanding scientists. Scientists in India are who have made possible the scientific advances of highest international

advances of highest international
Options:
1) fibre

2) calibre
3) enclosure

4) curvature
Correct Answer: calibre
Candidate Answer: calibre

QID : 276 - Which one of the following Indian states has the highest consumption of chemical fertilizers?

Frofafaa § eF I URAT 50 IERE IRG! B WU T B BRar 82
Options:
1) Maharashtra

HeRTY

2) Andhra Pradesh

e UG

3) Uttar Pradesh

JR U™

4) Punjab

EEIc)

Correct Answer: Punjab
EEIE]

Candidate Answer: Punjab
ESIE]

QID : 277 - Which of the following Acts provides 100 days assured employment every year to every rural household in 200 districts of India?

fFafafea & ¥ o9 o fifFTm yRa & 200 el 7 8 UrHvr uRaR &1 8% I1eT 100 & &7 19 BT My T 82
Options:
1) SGSY

2) NFWP
3) NREGA
T

4) REGP
Correct Answer: NREGA
a2

Candidate Answer: NREGA

QID : 278 - Who appoints the Chief Election Commissioner of India?

YRd & q&F I1d ged o1 Fgfa S F=ar g2
Options:

1) Prime Minister of India

URA & TTH

2) Chief Justice of Supreme Court of India
URA & IAdH T & T e
3) Vice President of India

URA & 39

4) President of India

HRT & PR

Correct Answer: President of India

HRT & AgUfd
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Candidate Answer: President of India
URD &

QID : 279 - Vice President of India addresses his resignation-letter to which of the followings?

HRA F IU-IPURT ST SxApT-03 Fafaied & 9 frd diud 32
Options:

1) Chief Justice of Supreme Court of India
URD & J=dd e & ToF i
2) Prime Minister

YR & YYTH

3) President of India

URA &

4) Speaker of Indian Lok Sabha

HRA & TID GHT A&

Correct Answer: President of India

HRd & gufd

Candidate Answer: President of India
HRd & APl

QID : 280 - What has been called the incident of relinquishing home by the Lord Buddha?

YA § §RT TGN & T &) o1 Hgl 1 82
Options:
1) Mahabhinishkraman

TR

2) Sambodhi
Ty
3) Mahaparinirvan

4) Dharmachakrapravartan
Correct Answer: Mahabhinishkraman

Candidate Answer: Mahabhinishkraman

QID : 281 - The first weekly newspaper published in India was

HRA H USHIRIA G4 aTel Ued SIdlied SHER U |
Options:

1) Shamsul Akbar

A 3fhaR

2) Bombay Samachar

TS YHER

3) Bengal Gazette

EUGRIEG

4) Samachar Chandrika

THER Ffesiebl

Correct Answer: Bengal Gazette
EUGRIEG

Candidate Answer: Bengal Gazette
EUGRIE

QID : 282 - What percentage of the water is present in the Northern Hemisphere of Earth?

gt & I e # fpan vfaRig 4 R o 3 Sufufa 82
Options:

1) Around 80%

TTHIT 80%

2) Around 72%

THIT 72%

3) Around 61%

HIT 61%

4) Around 51%

THIT 51%

Correct Answer: Around 61%
THIT 61%

Candidate Answer: Around 72%
THIT 72%

QID : 283 - On which of the following rivers is the Hirakund dam built?

g sty Fafafed et & & frg w s o 82
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Options:
1)p(t:r?ens;b
foE
2) Mahanadi
3) Krishna

Eal
4) Satluj

BNERE

Correct Answer: Mahanadi

Candidate Answer: Mahanadi

QID : 284 - Which one of the following plastids is responsible for giving green colors to leaf and stem of plants and trees?

fofoiaa & S 91 te Juie Te-Mel & a7 3R kil &) &1 31 37 ¥ forw Sarerd 82
Options:

1) Chloroplasts

FIRTARE

2) Leucoplasts
3) Protoplasts
UIeIaRe

4) Chromoplasts
Correct Answer: Chloroplasts

Candidate Answer: Chromoplasts

QID : 285 - Which among the followings produces seeds?
Fraffed & $1 e I Far 82

Options:

1) Thallophyta
AepTSET

2) Bryophyta
EIRIEDE

3) Pteridophyta
4) Gymnosperms

Correct Answer: Gymnosperms

Candidate Answer: Bryophyta

QID : 286 - BCG vaccine is used to develop immunity against which of the following disease?

Hitelt dfi= o1 IuahT Faferad W # 2 far 1 & Raars ufeRide emdr [l w1 & R 5o wimar 82
Options:
:I_.) Ir]fluenza

2) Tuberculosis
3)_ Jaundice

4) Polio
qifery

Correct Answer: Tuberculosis

Candidate Answer: Tuberculosis

QID : 287 - Approximately how much is the velocity of sound in the air?

arg el 1 AT TTHT e B2
Options:

1) 112 m/s

112 /3

2) 224 m/s

224 W/

3) 330 m/s

330 /9

4) 430 m/s

430 WA

Correct Answer: 330 m/s

330 i/
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Candidate Answer: 330 m/s
330 Hi/2

QID : 288 - Which is used for electrolyte in a normal dry cell?

T g I Ao H figad siaue % R fbgest SughT fahar siar 82
Options:

1) Copper

GIE

2) Zinc

ST

3) Ammonium chloride

4) Sulfuric acid
Correct Answer: Ammonium chloride

Candidate Answer: Sulfuric acid

QID : 289 - Which one of the following is not an example of input computer device?

0 § DI U1 TP 37YC SR fSaTey HT IeTe0l gt 82
Options:

1) Mouse

ey

2) Scanner

3) Speaker
T
4) Digital Camera
I
Correct Answer: Speaker

Candidate Answer: Speaker

QID : 290 - The number value 6.022 x 1023 is also called

T= 6.022 x 1023 B ot Hega .
Options:
1) Atomic Number
TRATY I3
2) Mass Number
SoOH H-T
3) Avagadro's number
S{RRe|
4) Dalton's Number
STeed I&1
Correct Answer: Avagadro's number
gl =
Candidate Answer: Avagadro's number
wanTg! w|

QID : 291 - The natural fibres are made from simple molecule that is known as

WA ST F F9 UTpfaes I B T 1l B
Options:

1) Plastics

we®

2) Cellulose
3) Polymer

4) Monomer
Th i
Correct Answer: Monomer

Thddh
Candidate Answer: Cellulose

QID : 292 - Simlipal bio-reserve is located in which of the following state of India?

Rprefiore S9-3Rfa yRd & Fafied Isa & 3 fog o Rua 82
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Options:
1) Punjab
EEIE]

2) Delhi
feeaht

3) Odisha

4) West Bengal
PR G
Correct Answer: Odisha

Candidate Answer: West Bengal
CIEEET G

QID : 293 - Which one of the following government body is the apex institute of Rural Credit?

fRafifed Wer Fem § § 19 31 v B &1 Jaie I 82
Options:

1) RBI

HRdg Red s

2) SBI

®e 3% 3w e

3) NABARD

EIGI]

4) HUDCO
Correct Answer: NABARD

Candidate Answer: NABARD

QID : 294 - Who among the following scientists invented the Penicillin?

e o1 snfaser Faffad dfe & § e
Options:

1) Martin Cooper

e

PR
2) Thomas Edison

YHI U ST
3) John Galting
S Afei

4) Ale_xander Eleming
Correct Answer: Alexander Fleming

Candidate Answer: Alexander Fleming

QID : 295 - What is the standard distance of a marathon race?

IRTYF S8 B AFS g8 71 82
Options:

1) 38.195 km

38.195 fardt

2) 40.195 km

40.195 foret

3) 42.195 km

42.195 foet

4) 44.195 km

44,195 forrt

Correct Answer: 42.195 km
42.195 foet

Candidate Answer: 42.195 km
42.195 foet

QID : 296 - Which of the following gate was constructed in memory of Indian soldiers died in World War I?

frofafea & 9 o1 @1 e uuy faygs ¥ weie gU YRa & At ot are & Affa far mr 1
Options:

1) Gateway of india, Mumbai

2) India Gate, New Delhi

3f&an e, 7% et

3) Charminar, Hyderabad

4) Buland Darwaja, Fatehpur Sikri
el aRar, BiEa
Correct Answer: India Gate, New Delhi

3w e, 73 fowht
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Qandidate Answer: India Gate, New Delhi

fan e, 78 et

QID : 297 - The Nobel peace prize is awarded in which of the following city?
T wifa REeR a3 9 few wer & ver far s g2

Options:
1) New York

2) Stockholm

3) Oslo

it

4) London

dad

Correct Answer: Oslo

Candidate Answer: Oslo

QID : 298 - India of My Dreams' book is written by.

Semeip T gas . grifeRATE R
Options:

1) Mahatma Gandhi

TETT e

2) Dr. S. Radhakrishnan

BT, T, AUHUH

3) Jawaharlal Nehru

TATER AT g

4) Dr. Rajendra Prasad

SREEREIC

Correct Answer: Mahatma Gandhi
HETT e

Candidate Answer: Jawaharlal Nehru
BEIGSSINERES

QID : 299 - At which of the following places the International Court of Justice situated?

Frafifed & 3 frw =M R siaxigia e Rid &2
Options:

1) Rome

Rt

2) Vienna
3) The Hague
&1

4
4) Geneva

Correct Answer: The Hague
CAl

Candidate Answer: The Hague
A4l

QID : 300 - Which is the largest city of Myanmar, the neighboring country of India?

HYRA & TSI 3 TR T Jo TT TR S T 82
Options:
1) Yangon

RS

2) Naypyidaw
st

3) Mandalay
Aisd

4) Mawlamyine

Correct Answer: Yangon

Candidate Answer: Naypyidaw
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